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D < B A QUESTIONS /ti»
Vitamin K Vitamin C Vitamin B Vitamin A | Night blindness is because of deficiency 1
K 't C b B A b of which vitamin?
?g.Géﬂgfsi;&&bcg:JJJJB:J(
Which one of the following is not an ar | 2
‘\72 SOz co 17\]02 po]lutant‘? ?%ﬂ#iﬂﬂ!ﬁ}(c,u:dif?zﬂ
Which one of these pollutants is not found | 3
S0, NO, o, cO in car exhaust fumes?
?ngu’i‘)uf-/.fyl)ggfmzéﬁﬁufa_uﬁdi.?w
Quick lime Lime water Soda lime Na,-zeolite Permanent hardness of water is removed 4
fy . i by adding:
N7 g Fusy i gk y adding: . ‘
i s (Epu P e dir LU sk
e e ]
Fluorosis Hepatitis Cholera Jaundice A disease that can cause bone and tooth 5
oo St l s damage is: ’
?‘C-dl‘{:());,?:Jé_ﬂ;rzljéd}';buluz,z
Distillation Froth fiotation |  Smelting Roasting | Concentration of copper ore is carried out 6
g Hh) o - by: e P Sl
Nitrogen and hydrogen were reacted 7
together to make ammonia:
N, +3H, < 2NH,
Kg=2.86moldm™ What will be
H, N,, H, N,, H,, NH;| - NH, presefit il equilibrium mixture?
y -u}lelgriL)Lfld;utuﬁfu?u)gl,mgf’f’t
i ]\/'2+3H2v-'-2NH3
: K. =2.86moldm™
et 5 Ak
~ 1 Which one of the following compound is 8
HNO, H,0 NaOH HC?¢ Amphoteric?
t oS AL et soiar
B Which one of the following compound 9
R-OH Ce ALCl, OH" can accept a pair of electrons?
" \‘§_C5/ i s /'?!}cfy’ Lufetitisis
C.H,. C H 6t s O s General formula of alkyl radical is: ) 10
i ﬂ(gﬂ L e
I —— R
Dehydration of alcohols can be carried out 11
H,S0, HCt KOH NaOH with:
‘.’4‘;_(3‘6%Jilf[—&ﬁd,ie/ﬂcﬂ/l’&dj(f'/"}m
DNA Vitamins Lipids Protein Which one of the following is a 2
et b oy whar triglyceride? et Aol pdizis
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NOTE: Write same question number and its

parts number on answer book, as given in the question paper.
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SECTION-I i@

2. Attempt any five parts. ] 10=2x5 l -g’,{.‘;’agm&mﬁaﬂ 240y
(i) | What are reversible reactions? Give one example. % g Seoles SIS 19 fernJorn (i)
(i) | Howis dynamic equilibrium established? tetin I;E' 4’ A8 L1k ___(g)_—_
(iti) | What is Pitch? 1% (iii)
(iv) | Write note on homologous series. E ufj i /”,U},, | %)
(v) | Write the general formula of Ketonic group. . Jf‘j Ui /.,.th’ Y1 W)
(vi) | What is meant by the term catenation? te s e uﬁ:u“:{ ™ (vi)
(vii) | Write the formula of Oxalic acid. ~ ufﬂ Sy | (Vi)
(viii) | Define unsaturated hydrocarbons with exarﬁples. S et /,7‘“( S A S (viii)
3. Attempt any five parts. 10=2 x5 _E ek L,z,és =87 3w
() | What are mixed salis? Give an example. & AN A% (i)
(ii) | Write down any two uses of sulphuric acid. » _ZELF =) eSS L sanSas? (i)
(ii)) | Differentiate between p and pH . _E3pt pH 1 p (i)
(iv) | Write general formula of Lipids. e s 2603 (iv)
(v) | How is Gelatin obtained? te bl b 5 )
(vi) | What is the chemistry of swimming pool cleanliness? ¢ ‘L&(d /”{Jzi— /’Zdbn(fd ¥ B ® (vi)
(vii) | Why are pesticides used? e Lo UL IS (vii)
(viii) | What is meant by Boiler scales? How are they removed” ¢ %b.%?" 4@5,9 e e A Sy (viii)
4. Attempt any five parts. J 16=2 x5 Wy T L'z'éﬁ a8 afdr
(i) | CO,is responsible for heating up atmosphere, how? el ._w;(é__/Lf S CO, '*__(i)—ﬂ
(ii) | How is ozone layer formed in stratosphere? ¢ ‘LC"’ z;f it k«/ %y (ii)
(iii) Why does acid rain damage buildings? ¢ %& S S PAE s 2 (iii)
(iv) | Define primary pollutants and give two examples. e Pt i P S A (iv)
(v) | Write down raw materials for the preparation of sodlum carbonate. L i)t es i 5',,,.,,«;;“ .
r ..;f (&'L)»’ﬁ
(vi) | What is meant by calcination? Write chemical equation. - - 49'&,,(,,3&{ Sl e il (vi)
(vii) | Write composition and boiling range of fuel oil. S Bt SSTU2 (vif)
~(viii) What is the principle of fractional distillation? e Ur Kokt (s b (viii)
SECTION-IL (1% - -
NOTE: | Attempt any two questions. i18=2x9 I i Fel 2L etyve s e
5(A) | Define salt. Describe four methods of preparation 1 +a g FE RS i Jvl/J‘J rodioit? el | (NS5
of soluble salts. i
(B) | Write down four macroscopic characteristics of 1%4 ke e vg,é 2 J‘gd’ M ()
forward reactions.

6.(A) | What are effects of water pollution? 5 i Lokt | ()6
(B) | Write down sources and uses of carbohydrates. 4 Bty L Ak | @
7.(A) | How is urea _manufactured? Explain showing the 5 _Eeolne ! Fnepdtere L AUy | (DT

flow sheet diagram.
(B) | Write the uses of Acetylene. 4 et LA SN
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You have four choices for each objective type question as A, B, Cand D. -¥susd e zefifusr §i /7 /b i S 1S QNo.1
The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
ot pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /=iy Sr.No.
Night blindness Anaemia in Scurvy Rickets Deficiency of vitamin E causes: 1
P babies G Gl e FerfUE o
Lo S
Which gas does protect the Earth’s 2
0, N, Cco co, surface from ultraviolet radiations?
te Qe Ak it LSS
Ozone Nitrogen Cco Nitrogen Which one of the following is not 3
st diqxide Y i P an air pollutant?
TR L ?g,uﬁi‘};:":‘:ﬁb?ﬂbb(c—ufdig/p
Which one of the following ions 4
Na* SOy Mg* i Ca* does note cause hardness in water?
. (L,L‘fdtl{fbgp(dgdffujc.ufd‘:;/ﬂ
MgSO, MgCO, CaCO; Ca (HCO,), Temporary hardness is because of: o}
. -‘4-<>JJU"“5/QL5/./,J
Diesel oil Alcohol Petral Kerosene oil | Which one of the following is not a 6
1z Kl s Jrend fraction of petroleum?‘
?uﬁ}uﬁg)J(f,,%d’fc-ufuJiie/ﬂ
For a reaction between PC¥,and )
mol dm’ mol dm™ mol ™ dm™ mol ' dm’ Gigtadorm PR, hieamii ot
: K, are: PCl . Cl,mPCL,
: S L K SNl Lt
v s The conjugate acid of HPO;™ is: 8
H,PO, H,PO; B, PO 1 PO e e i HPOY
‘ ' Which one of the following species 9
S0 HCO; NH,  H,0 is not Amphoteric?
: ?ﬁ;;jf}J'/:ﬁ{IU;(@u:uei,?/ﬂ
‘ E Which.one of the following is 10
CH,COCH, CH,CHO CH, —-COOH | CH,-CH,~OH | an aldehyde?
?4.5&’[,(51&!(/0!/:.-;]:(,),’,5?/&
Formic acid Oxalic acid Glycol Glyoxal Oxidation of alkenes produces: 11
e A ST Jie JT8¢ DTS, 11 ]
Cellulose Sucrose Maltose Glucose Photosynthesis process produces: 12
ik nF P ¥ cb Uiy Pt
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SECTION-I i
2 Attempt any five parts. 10=2 x5 -9'54/’:«&':2&!2!@:-3/ 24y
() | What is static equilibrium? Give an example. -._ézdl"/u_ﬁ?q..ww-}dfw@ (i)
(ii) Why K. has no units for some reversible reactions? ?u:fa,wj"f‘fzg K 5ﬂ,d,ﬁ,z,ffu,g’ (i)
Give an example. AN o
(iii) | Define carbonization. How is coal formed? @.C‘ec_f)’ﬂélé//"ifﬁ'/’u/( (iii)
(iv) | Describe the importance of natural gas. ke A5 | (V)
(v) | How alkyl radicals are formed? Give two examples. -é}dﬁjl‘/u?u.?&é/ﬁ%&m’ (v)
(vi) | Define functional group with an example. wég__é,/u(y,fdﬁac'u‘jd@ (vi)
(vii) | How can you identify ethanc from ethene? Yu}é/cf:»lligf(}zthcnc) u:’;"lul(lithane) ML{; (vii)
(viii) | Why are alkanes called paraffins? O U1 4 (Alkanes) s | (viid)
3. | Attempt any five parts. ’ 10=2x5 Ef ez lindie S| 340y
0 How can you justify that Pb(OH) NO, is a basic salt? fe 2l Lefi Ph(OH) NO, fwél‘;.;__f.?,ll )
(ii) | Name two acids used in the manufacture of fertilizers. -“&J"VLJL_‘I;)LDL:?JL’J’!ui’d/?(f/'//’lk‘/. (ii)
(iii) | Write down two uses of calcium oxide. L fevn Lt | (i)
(iv) | What is the function of DNA? te VP pNa | (V)
(v) | Describe the uses of carbohydrates. . _ éi:u!;.b"«u;::' Limpux| O
‘_(vi) How can be prevented from waterborné diseases? ¢ ‘T—ECW 5 2 e Ugdedbiri, - ’JUE (vi)
(vii) | Describe the disadvantages of detergents. _ g{dk«othﬁ 7 ‘f{ 4 (vii)
(viil) | Why pesticides are used? st bl Jeiu g | (Vil)
4. Attempt any five parts. 10=2 x5 y, . _Ef._"}’;g,zé,z,&s‘;‘j/ a4y
(i) | Differentiate between primary and secondary air-pollutantss NESS N el T iy Lis (i)
(ii) | How does acid rain increase the acidity of soil? ,: ?gJ/JulJI&MJd:JC/’JKQJ A (i)
(iii) | Describe two effects of ozone depletion. - ) e 2 L E 6 L (iit)
(iv) | Write two effects of SO, gas. i _ﬁg;,,;,,,ggfsoz (iv)
M) | How NaHCO, is converted to Na,CO, 7 | et VS ENa,CO, £S NaHCO, | V)
(vi) | Write two advantages of Solvay’s process. \i B _é A L s 4t (vi)
(vii) | What role is played by pine oil in the froth ﬂotatiqg process” [ y+/,)/g(J'fJgu:J/’4Jf’ﬁj,) (vii)
(viii) | What is the principle of Solvay’s process? , S U e S (viii)
SECTION-IT (5.0
NOTE: | Attempt any two questions. 18=2x9 Efrl e dS | )
5.(A) | Define salt and write any four properties of salts. » o&»r‘;ﬂl/lg(}:’/(fgfﬂbnlq/c—@f?‘;"}l’ (DS
B) Wri'lf': dgwn the macroscopic properties of dynamic ~“i,:/./:-'-'f§;n‘”’uf!'/’:£'b(f~'/6:gvﬂ‘;'5 )
equilibrium. ’ ’
6.(A) | Explain five important waterborne discases. -d,/c»U:Jug/k:-é&dl:Lnl»,gce:JJg -6
(B) | Explain oligosaccharides. -q/-wu:Jﬁi'/é:?ﬂ G
TR e o e Bt o i e [t
Sl S et L
(B) | Write two methods for the preparation of alkynes. G FE el S dF )
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